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1. …¬ÛÙÉÛÛÍªÛ¶Ûà …™ö©Û¶Ûé ÅÛ•Û©Ûà ÈýÛÛ”ýÛÛ ÍÛ¾Û›ÛÈÛÛé. …Û ¸ÛÐéüÅÛÛ×¶Ûà ÈýÛÛ”ýÛÛ…Ûé ïõÁõ©ÛÛ× ©Ûé ïõˆ Áõà©Ûé 

˜Û§øàýÛÛ©Ûà ™öé ?  14 
 Explain the scarcity oriented definition of Economics. In what respect, it is superior to 

earlier definition ?  
   …¬ÛÈÛÛ/OR 
 ¶Ûà˜Ûé¶ÛÛ ÜÈÛÉÛé ©ÛºõÛÈÛ©Û Í¸ÛÌ¤ø ïõÁõÛé : (•Û¾Ûé ©Ûé ¼Ûé) 
 Distinguish between the following : (Any two) 
 (a) …éïõ¾ÛÅÛ“Ûà …¬ÛÙÉÛÛÍªÛ …¶Ûé ÍÛ¾Û•ÛóÅÛ“Ûà …¬ÛÙÉÛÛÍªÛ  
  Micro Economics and Macro Economics. 
 (b) ¾Ûäî©Û ÈÛÍ©Ûä…Ûé …¶Ûé …ÛÜ¬ÛÙïõ ÈÛÍ©Ûä…Ûé 
  Free goods and economic goods. 
 (c) ¶ÛÛ¨ÛÛ×ïõàýÛ …ÛÈÛïõ …¶Ûé ÈÛÛÍ©ÛÜÈÛïõ …ÛÈÛïõ  
  Monetary income and real income. 
 
2. –Û¤ø©ÛÛ ÍÛà¾ÛÛ¶©Û ©ÛäÜÌ¤ø•Ûä¨Û¶ÛÛ Ü¶ÛýÛ¾Û¶Ûà ¤øàïõÛ©¾Ûïõ ÍÛ¾Ûà“ÛÛ ïõÁõÛé.  14 
 Critically examine the law of Diminishing Marginal Utility.   
          …¬ÛÈÛÛ/OR 
 ¾ÛÛ×•Û¶ÛÛé …¬ÛÙ …Û¸Ûà, ¾ÛÛ×•Û¶ÛÛé Ü¶ÛýÛ¾Û …ÛïèõÜ©Û¶Ûà ¾Ûþùþù¬Ûà ÍÛ¾Û›ÛÈÛÛé. ©Ûé¶ÛÛ …¸ÛÈÛÛþùÛé¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 
 Define the term ‘Demand’. Explain the law of demand with diagram, and discuss its 

exceptions. 
 
3. ÍÛ¾Û›ÛÈÛÛé :   14 
 Explain : 
 (a) ¸ÛäÁõÈÛ¥øÛ …¶Ûé ›÷¬¬ÛÛ ÈÛ˜˜Ûé¶ÛÛé ©ÛºõÛÈÛ©Û  
  The difference between supply and stock. 
 (b) ¸ÛäÁõÈÛ¥øÛ¶Ûà ¾ÛæÅýÛ ÍÛÛ¸Ûé“Û©ÛÛ¶Ûé …ÍÛÁõ ïõÁõ©ÛÛ× ¸ÛÜÁõ¼ÛÇÛé 
  The factors affecting elasticity of supply. 
    …¬ÛÈÛÛ/OR 
 ¸Ûæ¨ÛÙ ÐüÜÁõºõÛˆÈÛÛÇÛ ¼Û›ÛÁõ¾ÛÛ× ¾ÛÛ×•Û …¶Ûé ¸ÛäÁõÈÛ¥øÛ ³ùÛÁõÛ Ýïõ¾Û©Û ïéõÈÛà Áõà©Ûé ¶Û‘õà ¬ÛÛýÛ ™öé ©Ûé …ÛïèõÜ©Û¶Ûà 

¾Ûþùþù¬Ûà ÍÛ¾Û›ÛÈÛÛé.  
 Explain with the help of diagram, how price is determined by the demand and supply in 

the perfectly competitive market. 
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4. ËÛ¾Û ÜÈÛ½ÛÛ›÷¶Û …é¤øÅÛé ÉÛä× ? ËÛ¾Û ÜÈÛ½ÛÛ›÷¶Û¶ÛÛ ÅÛÛ½Û …¶Ûé •ÛéÁõÅÛÛ½Û ÈÛ¨ÛÙÈÛÛé.  14 
 Define Division of Labour. Describe the merits and demerits of division of labour. 
               …¬ÛÈÛÛ/OR 
 Š©¸ÛÛþù¶Û¶Ûà ÈýÛÛ”ýÛÛ …Û¸ÛÛé. Š©¸ÛÛþù¶Û¶ÛÛ ÍÛÛµÛ¶Û ©ÛÁõàïéõ ½ÛæÜ¾Û¶ÛÛé …¬ÛÙ ÍÛ¾Û›ÛÈÛà ©Ûé¶ÛÛ ÅÛ“Û¨ÛÛé ˜Û˜ÛÛë. 
 What do you mean by production ? Discuss the meaning and characteristics of “Land” as 

a source of production. 
 
5. (A) ýÛÛé•ýÛ ÜÈÛïõÅ¸Û ¸ÛÍÛ×þù ïõÁõÛé : 14 
  Choose the correct option : 
  (1) …¬ÛÙÉÛÛÍªÛ¶Ûà ïõÅýÛÛ¨ÛÅÛ“Ûà ÈýÛÛ”ýÛÛ _______ …¬ÛÙÉÛÛÍªÛà…é …Û¸Ûà ™öé.   
   (a) ¸ÛóÛé. …é¦ø¾Û ÜÍ¾Û¬Û 
   (b) ¸ÛóÛé. ¾ÛÛÉÛÙÅÛ  
   (c) ¸ÛóÛé. ÁõÛéÜ¼Û¶ÍÛ  
   The wealth-oriented definition of economics is given by _______. 
   (a) Prof. Adam Smith  
   (b) Prof. Marshall  
   (c) Prof. Robbins  
  (2) ÈÛÍ©Ûä¾ÛÛ× ÁõÐéüÅÛ ›÷ÄõÜÁõýÛÛ©Û ÍÛ×©ÛÛéÌÛÈÛÛ¶ÛÛ •Ûä¨Û¶Ûé _______ ïõÐéü ™öé.  
   (a) ¾ÛÛ×•Û  
   (b) ©ÛäÜÌ¤ø•Ûä¨Û 
   (c) ÍÛ×¸ÛÜ«Û 
   The want satisfying quality in a good is called _______. 
   (a) Demand 
   (b) Utility 
   (c) Wealth 
  (3) ïõÛéˆ¸Û¨Û ÈÛÍ©Ûä¶Ûé šýÛÛÁéõ …éïõ-…éïõ Í¬ÛÛ¶Ûé¬Ûà ¼Ûà›Û Í¬ÛÛ¶Ûé ÅÛˆ ›÷ÈÛÛ¾ÛÛ× …ÛÈÛé ©ýÛÛÁéõ 

©ÛäÜÌ¤ø•Ûä¨Û¾ÛÛ× ›÷é ÈÛµÛÛÁõÛé ¬ÛÛýÛ ™öé ©Ûé¶Ûé ________ ©Ûä.•Ûä. ïõÐéü ™öé.  
   (a) Í¬ÛÇÅÛ“Ûà 
   (b) ÍÛ¾ÛýÛÅÛ“Ûà 
   (c) ÍÛéÈÛÛÅÛ“Ûà 
   Utility can be increased by transporting a good from one place to another, this 

is known as ________ utility. 
   (a) Place utility 
   (b) Time utility 
   (c) Service utility 
  (4) ÐüàÁõÛ¾ÛÛ× ‹˜ÛÛ ¸Ûó¾ÛÛ¨Û¾ÛÛ× _________ ÁõÐéüÅÛ ™öé.  
   (a) Š¸ÛýÛÛé•Ûà©ÛÛ ¾ÛæÅýÛ  
   (b) ÍÛéÈÛÛ ¾ÛæÅýÛ  
   (c) ÜÈÛÜ¶Û¾ÛýÛ ¾ÛæÅýÛ  
   Diamonds have a very high _________. 
   (a) value in use 
   (b) value in service 
   (c) value in exchange  
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  (5) ›÷é ÈÛÍ©Ûä…Ûé •ÛóÛÐüïõ¶Ûà ›÷ÄõÜÁõýÛÛ©ÛÛé ¸Ûó©ýÛ“Û Áõà©Ûé ÍÛ×©ÛÛéÌÛé ™öé ©Ûé ÈÛÍ©Ûä…Ûé¶Ûé ________ ïõÐéü ™öé.  
   (a) ¾Ûæ¦øà ÜÈÛÌÛýÛïõ ÈÛÍ©Ûä…Ûé 
   (b) ÈÛ¸ÛÁõÛÉÛà ÈÛÍ©Ûä…Ûé 
   (c) Š©¸ÛÛþùïõ ÈÛÍ©Ûä…Ûé 
   ________ are those goods which satisfy consumers’ wants directly. 
   (a) Capital goods 
   (b) Consumer goods 
   (c) Producer’s goods 
  (6) ¾ÛÛ×•Û¾ÛÛ× ÈÛµÛÛÁõÛé –Û¤øÛ¦øÛé _______ ¸ÛÁõ …ÛµÛÛÜÁõ©Û ™öé.  
   (a) Ýïõ¾Û©Û  
   (b) ¸ÛäÁõÈÛ¥øÛé 
   (c) …¶ýÛ ¸ÛÜÁõ¼ÛÇÛé 
   Increase or decrease in demand is due to the change in _______. 
   (a) price 
   (b) supply 
   (c) other factors 
  (7) ¾ÛÛ×•Û¶Ûà ¾ÛæÅýÛ ÍÛÛ¸Ûé“Û©ÛÛ ÉÛÛéµÛÈÛÛ¶Ûä× ÍÛæªÛ ________ ™öé.     

   (a) 
¾ÛÛ×•Û¾ÛÛ× ¤øïõÛÈÛÛÁõà ºéõÁõºõÛÁõ
Ýïõ¾Û©Û¾ÛÛ× ¤øïõÛÈÛÛÁõà ºéõÁõºõÛÁõ  

   (b) 
Ýïõ¾Û©Û¾ÛÛ× ¤øïõÛÈÛÛÁõà ºéõÁõºõÛÁõ
¾ÛÛ×•Û¾ÛÛ× ¤øïõÛÈÛÛÁõà ºéõÁõºõÛÁõ   

   (c) 
¾ÛÛ×•Û¾ÛÛ× ¤øïõÛÈÛÛÁõà ºéõÁõºõÛÁõ

¸ÛäÁõÈÛ¥øÛ¾ÛÛ× ¤øïõÛÈÛÛÁõà ºéõÁõºõÛÁõ  

   Elasticity of demand can be calculated by ________.  

   (a) 
Percentage change in demand

Percentage change in price   

   (b) 
Percentage change in Price

Percentage change in Demand  

   (c) 
Percentage change in Demand
Percentage change in Supply   

  (8) ______ ¾ÛÛ×•ÛÁéõ”ÛÛ …Û¦øà µÛÁõà¶Ûé (OX) ÍÛ¾ÛÛ×©ÛÁõ ÐüÛéýÛ ™öé.  
   (a) ÍÛ×¸Ûæ¨ÛÙ ¾ÛæÅýÛ …¶Û¸Ûé“Û 
   (b) ÍÛ×¸Ûæ¨ÛÙ ¾ÛæÅýÛ ÍÛÛ¸Ûé“Û 
   (c) Š¸ÛÁõ¾ÛÛ×¬Ûà …éïõ¸Û¨Û ¶ÛÐüá  
   ______ demand curve is parallel to the horizontal axis. 
   (a) perfectly inelastic 
   (b) perfectly elastic 
   (c) None of the above 
  (9) ÈÛÍ©Ûä Ýïõ¾Û©Û …¶Ûé ¸ÛäÁõÈÛ¥øÛ ÈÛ˜˜Ûé ________ ÍÛ×¼Û×µÛ ™öé.  
   (a) ÜÍ¬ÛÁõ 
   (b) ÈýÛÍ©Û 
   (c) ÍÛàµÛÛé 
   The quantity supplied varies ________ with price. 
   (a) constant 
   (b) inversely 
   (c) directly 
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  (10) ¸ÛäÁõÈÛ¥øÛ ÜÈÛµÛéýÛ _________ Áõà©Ûé þùÉÛÛÙÈÛà ÉÛïõÛýÛ.  
   (a) D = f(p) 
   (b) S = f(p) 
   (c) p = f(s) 
   Supply functions can be expressed as _________. 
   (a) D = f(p) 
   (b) S = f(p) 
   (c) p = f(s) 
  (11) šýÛÛÁéõ ¸ÛäÁõÈÛ¥øÛ¾ÛÛ× –Û¤øÛ¦øÛé ¬ÛÛýÛ ™öé ©ýÛÛÁéõ ¸ÛäÁõÈÛ¥øÛ Áéõ”ÛÛ ________ ©ÛÁõºõ ”ÛÍÛé ™öé.  
   (a) ›÷¾Û¨Ûà ¼ÛÛ›ä÷ 
   (b) ¦øÛ¼Ûà ¼ÛÛ›ä÷ 
   (c) Š¸ÛÁõ¶ÛÛ¾ÛÛ×¬Ûà …éïõ¸Û¨Û ¶ÛÐüá 
   When there is a decrease in supply, the supply curve shifts from ________. 
   (a) left to right 
   (b) right to left 
   (c) none of the above 
  (12) ›Ûé ¾ÛÛ×•Û ÜÍ¬ÛÁõ ÁõÐéü …¶Ûé ¸ÛäÁõÈÛ¥øÛé ÈÛµÛé ©ÛÛé Ýïõ¾Û©Û ______ ™öé.  
   (a) –Û¤éø 
   (b) ÈÛµÛé 
   (c) ÜÍ¬ÛÁõ ÁõÐéü 
   If demand remains constant and supply increases, the price ______. 
   (a) decreases 
   (b) increases 
   (c) remains constant  
  (13) Š©¸ÛÛþù¶Û¶ÛÛ ©Û¾ÛÛ¾Û ÍÛÛµÛ¶ÛÛé ¸Ûíéïõà ¾ÛÛªÛ ________ ¶ÛïõÛÁõÛ©¾Ûïõ …ÛÈÛïõ ¸ÛóÛ¸©Û ïõÁéõ ™öé.  
   (a) ½ÛæÜ¾Û 
   (b) ËÛ¾Û  
   (c) Ü¶ÛýÛÛé›÷ïõ 
   Among all the factors of production, only the ________ can receive a 

negative reward. 
   (a) Land 
   (b) Labour 
   (c) Entrepreneur 
  (14) ¾Ûæ¦øà …é Š©¸ÛÛþù¶Û¶Ûä× ÍÛÛíé¬Ûà ________ ÍÛÛµÛ¶Û ™öé.  
   (a) ›÷¦ø  
   (b) •ÛÜ©ÛÉÛàÅÛ  
   (c) …•ÛÜ©ÛÉÛàÅÛ  
   Capital is the most ________ factor of production. 
   (a) Rigid 
   (b) Mobile 
   (c) Immobile  

________ 


